

ARE SEVERAL RECENT GENERALIZATIONS OF EKELAND'S VARIATIONAL PRINCIPLE MORE GENERAL THAN THE ORIGINAL PRINCIPLE?

TRUONG QUANG BAO AND PHAN QUOC KHANH

ABSTRACT. We show that several recent results proposed as generalizations of Ekeland's variational principle are in fact equivalent to the original principle.

In 1974, Ekeland [2] introduced a variational principle, which appears to be one of the most important results in nonlinear analysis during the last three decades and has numerous applications. Recently, several generalizations of this principle have been proposed (see [11, 12]). The purpose of the present note is to show that these seemingly more general results can be derived from the original Ekeland variational principle. Let us begin with the original principle.

Theorem 1. [2]. *Let (X, d) be a complete metric space, $f : X \rightarrow R \cup \{+\infty\}$ be a lower semicontinuous functional, not identically $+\infty$ and bounded from below. Then, for every $e > 0, \lambda > 0$ and $x_0 \in X$ such that*

$$f(x_0) < \inf_{x \in X} f(x) + e,$$

there exists $x^ \in X$ such that*

- (a) $f(x^*) \leq f(x_0)$;
- (b) $d(x_0, x^*) \leq \lambda$;
- (c) $f(x) - f(x^*) + \frac{\varepsilon}{\lambda} d(x^*, x) > 0, \quad \forall x \neq x^*$.

For our purpose, the following version of [3] is more suitable.

Theorem 2. [3]. *Let (X, d) and f be as in Theorem 1, $x_0 \in \text{dom} f$ and $\varepsilon > 0$ be fixed. Then there exists $x^* \in X$ such that*

- (i) $f(x^*) - f(x_0) + \varepsilon d(x_0, x^*) \leq 0$;
- (ii) $f(x) - f(x^*) + \varepsilon d(x^*, x) > 0, \quad \forall x \neq x^*$.

Received April 29, 2003; in revised form September 3, 2003.

1991 *Mathematics Subject Classification.* 49J40, 46N10, 90C99.

Key words and phrases. Complete metric spaces, lower-semicontinuity, Ekeland's variational principle.

This research was partially supported by the National Basic Research Program in Natural Sciences of the NCSR of Vietnam and by the Conseil Interuniversitaire de la Communauté Française (C.I.U.F. - C.U.D. - C.U.I.) of Belgium.

For the sake of completeness, we supply a proof of the equivalence between Theorems 1 and 2. Let the assumptions of Theorem 1 be satisfied. Setting $\varepsilon = \frac{e}{\lambda}$, we deduce from Theorem 2 that $d(x_0, x^*) \leq \frac{\lambda}{e}(f(x_0) - f(x^*)) \leq \frac{\lambda}{e}e = \lambda$. Hence the conclusion of Theorem 1 is valid. Now, suppose Theorem 1 holds. Let $x_0 \in \text{dom}f$ and $\varepsilon > 0$ be given. Fix any $e > f(x_0) - \inf_{x \in X} f(x)$ and set $\lambda = \frac{e}{\varepsilon}$. Consider

$$S := \{x \in X : f(x) - f(x_0) + \varepsilon d(x_0, x) \leq 0\}.$$

By the lower semicontinuity of f , S is closed. Furthermore, S is nonempty as $x_0 \in S$. Applying Theorem 1 for the chosen e, λ and for S instead of X one finds $x^* \in S$ satisfying (a), (b) and

$$(c') \quad f(x) - f(x^*) + \frac{e}{\lambda}d(x^*, x) > 0, \quad \forall x \in S \setminus \{x^*\}.$$

Since $x^* \in S$, (i) holds.

To show (ii) it is sufficient to check that (c') is satisfied also for $x \notin S$. By the definition of S , the property $x \notin S$ means

$$f(x) - f(x_0) + \varepsilon d(x_0, x) > 0.$$

From this and (i) we easily deduce (ii) and then obtain Theorem 2. This shows that Theorem 2 holds true.

To derive the generalizations of the Ekeland variational principle given in [11, 12], we first prove the following intermediate theorem.

Theorem 3. *Let (X, d) , f and x_0 be as in Theorem 2. Let $H : [0, +\infty) \rightarrow [0, +\infty)$ be a nonincreasing function such that $\int_0^s H(r)dr$ is a continuous function of s and $\int_0^{+\infty} H(r)dr = +\infty$. Let $y_0 \in X$ be fixed. Then, there exists $x^* \in X$ such that*

- (a) $f(x^*) \leq f(x_0)$;
- (b) $d(y_0, x^*) \leq r_0 + \bar{r}$;
- (c) $f(x) - f(x^*) + H(r(x^*))d(x^*, x) > 0, \quad \forall x \neq x^*$;

where $r(\cdot) = d(y_0, \cdot)$, $r_0 = r(x_0)$ and \bar{r} is such that

$$\int_{r_0}^{r_0 + \bar{r}} H(r)dr \geq f(x_0) - \inf_{x \in X} f(x).$$

Proof. . For $x \in X$ set

$$E(x) = \left\{ y \in X \mid r(x) \leq r(y) \quad \text{and} \quad f(y) - f(x) + \int_{r(x)}^{r(y)} H(r)dr \leq 0 \right\}$$

Clearly, $x \in E(x)$. Besides, if $y \in E(x)$ then it is easily seen that $E(y) \subseteq E(x)$. Furthermore, $E(x)$ is closed. To see this, let $x_n \in E(x)$, $x_n \rightarrow \bar{x}$. Then

$$r(x) \leq r(x_n),$$

$$f(x_n) - f(x) + \int_{r(x)}^{r(x_n)} H(r)dr \leq 0.$$

By the assumed continuity and lower semicontinuity, letting $n \rightarrow \infty$ we obtain

$$r(x) \leq r(\bar{x}),$$

$$f(\bar{x}) - f(x) + \int_{r(x)}^{r(\bar{x})} H(r)dr \leq 0,$$

which shows that $\bar{x} \in E(x)$. So $E(x)$ is a complete metric space.

For every $y \in E(x_0)$, by the definitions of $E(x_0)$ and \bar{r} , we can estimate the distance $d(y_0, y) = r(y)$ as follows

$$\int_{r_0}^{r(y)} H(r)dr \leq f(x_0) - f(y) \leq f(x_0) - \inf_{y \in X} f(y) \leq \int_{r_0}^{r_0 + \bar{r}} H(r)dr.$$

Since $H(r) \geq 0$, the obtained inequality yields

(1)
$$r(y) \leq r_0 + \bar{r}.$$

Applying Theorem 2 for $\varepsilon = H(r_0 + \bar{r})$ and $f|_{E(x_0)}$ one finds $z^* \in E(x_0)$ such that

(2)
$$f(z^*) - f(x_0) + H(r_0 + \bar{r})d(x_0, z^*) \leq 0,$$

(3)
$$f(x) - f(z^*) + H(r_0 + \bar{r})d(z^*, x) > 0, \quad \forall x \in E(x_0) \setminus \{z^*\}.$$

Again, using Theorem 2 for f (on X), $H(r(z^*))$ in the place of ε , and z^* as the starting point x_0 , one obtains $x^* \in X$ satisfying

(4)
$$f(x^*) - f(z^*) + H(r(z^*))d(z^*, x^*) \leq 0,$$

(5)
$$f(x) - f(x^*) + H(r(z^*))d(x^*, x) > 0, \quad \forall x \neq x^*.$$

Adding (2) and (4) gives

$$f(x^*) - f(x_0) + H(r_0 + \bar{r})d(x_0, z^*) + H(r(z^*))d(z^*, x^*) \leq 0,$$

which indicates that $f(x^*) \leq f(x_0)$. Thus assertion (a) holds.

If $x^* = z^*$, then (5) implies (c) and (1) implies (b). Hence $x^* = z^*$ is the required point. If $x^* \neq z^*$, then we have three possibilities. First, if $x^* \in E(x_0)$, then (3) and (1) imply that

$$f(x^*) - f(z^*) + H(r(z^*))d(z^*, x^*) > 0,$$

contradicting (4). Next, if $x^* \notin E(x_0)$ (then $x^* \notin E(z^*)$) and if $r(z^*) \leq r(x^*)$, then by the definition of $E(z^*)$ one gets

$$f(x^*) - f(z^*) + H(r(z^*))d(z^*, x^*) \geq f(x^*) - f(z^*) + \int_{r(z^*)}^{r(x^*)} H(r)dr > 0,$$

again contradicting (4). So it remains to consider the case where $x^* \notin E(x_0)$ and $r(x^*) < r(z^*)$. In this case we have $d(y_0, x^*) = r(x_*) < r(z^*) \leq r_0 + \bar{r}$ by (1). Hence (b) holds. Besides, $r(x^*) < r(z^*)$ implies that $H(r(x^*)) \geq H(r(z^*))$, and hence (c) follows from (5). \square

Remark 1. If one chooses, in the statement of the Theorem 3, $y_0 = x_0$, $\bar{r} = \lambda$ and $H(r) \equiv \frac{e}{\lambda}$, then one gets Theorem 1 from Theorem 3. So, Theorems 1, 2 and 3 are equivalent.

Theorem 3 implies the following main result of [11].

Theorem 4. [11]. *Let (X, d) , f and y_0 be as in Theorem 3. Let $\lambda > 0$, $\varepsilon > 0$ and $x_0 \in X$ such that $f(x_0) < \inf_{x \in X} f(x) + \varepsilon$. Let $h : [0, +\infty) \rightarrow [0, +\infty)$ be a continuous nondecreasing function such that $\int_0^{+\infty} \frac{dr}{1+h(r)} = +\infty$. Let $r_0 = d(y_0, x_0)$ and \bar{r} be such that*

$$\int_{r_0}^{r_0+\bar{r}} \frac{dr}{1+h(r)} \geq \lambda.$$

Then, there exists $x^ \in X$ such that assertions (a), (b) of Theorem 3 and*

$$(c') \quad f(x) - f(x^*) + \frac{\varepsilon}{\lambda(1+h(d(y_0, x^*)))}d(x, x^*) \geq 0, \quad \forall x \in X,$$

hold.

Proof. For $H(r) = \frac{\varepsilon}{\lambda(1+h(r))}$ we see that all the assumptions of Theorem 3 are satisfied, and (c) implies (c'). \square

Observe that the assumed continuity of $h(\cdot)$, which is inevitable in the proof in [11], is more restrictive than the continuity of $\int_0^s H(r)dr$ needed for Theorem 3. Moreover, (c) implies even the strict inequality in (c') for all $x \in X \setminus \{x^*\}$.

We now restate and demonstrate the following Theorem 5, which is the main result of [12]. Let (X, d) , x_0 , y_0 and $h(\cdot)$ be as in Theorem 4. Let $F : X \times X \rightarrow R \cup \{-\infty, +\infty\}$ be lower semicontinuous in the second variable and satisfy:

- (i) $F(x, x) = 0, \quad \forall x \in X;$
- (ii) $F(x, z) \leq F(x, y) + F(y, z), \quad \forall x, y, z \in X;$

$$(iii) \quad -\lambda := \inf_{x \in X} F(x_0, x) > -\infty.$$

Let \bar{r} satisfy
$$\int_{r_0}^{r_0+\bar{r}} \frac{dr}{1+h(r)} > \lambda.$$

Theorem 5. [12]. *Under the just mentioned assumptions, there exists $x^* \in X$ such that*

- (a₁) $F(x_0, x^*) \leq 0,$
 $d(x_0, x^*) \leq -(1 + h(r_0 + \bar{r}))F(x_0, x^*) \leq \lambda(1 + h(r_0 + \bar{r}));$
- (b₁) $d(y_0, x^*) \leq r_0 + \bar{r};$
- (c₁) $F(x_*, x) + \frac{1}{1 + h(d(y_0, x^*))}d(x^*, x) > 0, \quad \forall x \neq x^*.$

Proof. We will use Theorems 2 and 3 and also some arguments in the proof of Theorem 3. Set $H(\cdot) = (1 + h(\cdot))^{-1}$ and $f(\cdot) = F(x_0, \cdot)$. Then, it is easy to see that all the assumptions of Theorem 3 are satisfied. Hence, so are the assumptions of Theorem 2. Let us choose z^* and x^* by the same method as in the proof of Theorem 3. Then z^* satisfies (2) and x^* satisfies (4). Besides, by (1), $H(r(z^*)) \geq H(r_0 + \bar{r})$. From (4) it follows that

$$(6) \quad f(x^*) - f(z^*) + H(r_0 + \bar{r})d(z^*, x^*) \leq 0.$$

Adding (2) and (6) gives

$$(7) \quad f(x^*) - f(x_0) + H(r_0 + \bar{r})d(x_0, x^*) \leq 0.$$

From this and the definitions of $H(\cdot)$ and $f(\cdot)$ we have

$$d(x_0, x^*) \leq -(1 + h(r_0 + \bar{r}))F(x_0, x^*) \leq \lambda(1 + h(r_0 + \bar{r})),$$

which together with (7) yields (a₁). Finally, since x^* satisfies the conclusions of Theorem 3 and since (b₁) and (c₁), respectively, are nothing else than (b) and (c) of Theorem 3, we obtain the conclusion of Theorem 5. □

Note that the results of [7] are contained in the corresponding results of [12]. So they can be also derived from Theorem 3 by setting $f(\cdot) := F(x_0, \cdot)$. For $F(x, y) := f(y) - f(x)$ and $h(\cdot) := H(\cdot)^{-1} - 1$, the conclusion of Theorem 5 clearly implies that of Theorem 3. (However, the assumed continuity of $h(\cdot)$ is more restrictive than the continuity of $\int_0^s H(r)dr$ assumed in Theorem 3.)

Remark 2. Several authors used the term “generalization” to mean also an extension to the case where f is a vector-valued function. We would like to observe that, using scalarization one can derive Ekeland’s variational principle for the vector-valued case from the corresponding result for the scalar case (see [1, 5, 8]). So these principles for the vector-valued case can be viewed as equivalent to Theorems 2 and 3. However, Ekeland’s variational principles for vector-valued case in [4, 6, 9, 10], using vector metrics, are not equivalent to these theorems, since they imply Theorem 2 when f and the mentioned metric are scalar, but Theorem 2 does not imply them.

ACKNOWLEDGEMENT

The authors would like to express their sincere appreciation to the referees for their valuable remarks.

REFERENCES

- [1] D. Dencheva and S. Helbig, *On variational principles, level sets, well-posedness, and ε -solutions in vector optimization*, J. Optim. Theory Appl. **89** (1996), 325-349.
- [2] I. Ekeland, *On the variational principle*, J. Math. Anal. Appl. **47** (1974), 324-353.
- [3] I. Ekeland, *Nonconvex minimization problems*, Bulletin Amer. Math. Soc. (New series) **1** (1979), 443-474.
- [4] P. Q. Khanh, *On Caristi-Kirk's theorem and Ekeland's variational principle for Pareto extrema*, Bulletin Polish Acad. Sci., Math. **17** (1989), 33-39.
- [5] P. Loridan, *ε -Solutions in vector minimization problems*, J. Optim. Theory Appl. **43** (1984), 265-276.
- [6] A. B. Nemeth, *A nonconvex vector minimization problem*, Nonlinear Anal., Theory, Methods Appl. **10** (1986), 669-678.
- [7] W. Oettli and M. Thera, *Equivalents of Ekeland's principle*, Bull. Austral. Math. Soc. **48** (1993), 385-392.
- [8] C. Tammer, *A generalization of Ekeland's variational principle*, Optimizaton **25** (1992), 129-141.
- [9] I. Valyi, *A general maximality principle and a fixed-point theorem in uniform spaces*, Periodica Math. Hung. **16** (1985), 127-134.
- [10] I. Valyi, *Approximate solutions of vector optimization problems*, in "Systems Anal. Simulation", (T. Sydow, D. Thoma and F. Vychnevetsky, Eds.) Akademie, Berlin, 1985, pp. 246-250.
- [11] C. K. Zhong, *A generalization of Ekeland's variational principle and application to the study of the relation between the weak P. S. condition and coercivity*, Nonlinear Anal. **29** (1997), 1421-1431.
- [12] C. K. Zhong, J. Zhu and Y. J. Cho, *Generalized variational principle and vector optimization*, J. Optim. Theory Appl. **106** (2000), 201-217.

DEPARTMENT OF MATHEMATICS AND COMPUTING SCIENCE
VIETNAM NATIONAL UNIVERSITY-HOCHIMINH CITY
227 NGUYEN VAN CU, DISTRICT 5, HOCHIMINH CITY, VIETNAM